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1. A car traveling at 6 m/s is uniformly accelerated at a rate of 3 m/s? for 15 seconds.
a. What is the car’s final velocity?

\- = 6 m \I_F < Q.‘E {'VL
- s Vp “4S +6 \g < Sl""/sj
&= 3 ™ vg = 3)IS) to —
t< (5SS b. How far does the car travel during this time?
d= -\ia{.? Fu:t d= %%is+ 90

d= L3Sy +(6)S) (4= 42is m)

c. After the car reaches its final speed (part a.) it begins to slow down and comes to rest in 1
minute. What is the car’s acceleration as it comes to rest?

oDt

£: { min = 605 gm
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2. What acceleration is necessary for a boat to increase its speed from 13 m/s to 26 m/s over a
distance of 1.25 km? Is this acceleration positive or negative? Explain.

V= VetVe o 1Br2e a= VeV
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3. A car traveling at 8 m/s slows to a stop in 5 seconds. How far does the car travel over this time
interval? What was the car’s acceleration? 2 @ o’ \7 = V.‘,+\lll - 8_1? - r.In\[S
vz 8% (D g Ve Vi ® d=fat +vit = =z

Vg = 0 ™ d= Ut = ())

g <L C16) (Y ¢ (B))
- 2
£:55 oz 228 = Slem ] = -0+ 40 = [20m] Fd=20m\

4. The velocity graph for a truck is shown in the graph
to the right. ) N
a. Describe the motion in words. e 8 \
An chiect hag oan §wnctial veloaty of Y -
™M w o find velou -
(2 ™M ,and Slws fo ty - L .

oc 4 M tna fime of (8S.
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b. What was the acceleration of the truck? Notice ;‘f is the
- P ¥ — 2 . 3
Q< V.L_\_f, - L[ l -(, - 0- Y mls PG of The [in2
2 ) —_
c. How far did the truck travel in the time shown?
Vet 12+Y4 _
d= Sott vt oR V=Vit¥eo EET - gmp

+ 5 (o) (83" 6 (2)X8) d= T = (8)(8) = [T¥em]|

= -+ U = il"{‘(m s
d. At what time would the truck finally stop (assuming it maintained the acceleration.)

. - s - o frm (S'HP“-le
So new V= 12Ms o- Ve ¥ f o 12 " @patem!
- m - =
Vs 0 M/s t T Zo4y TF will ke X
(2 - o012 oS 1o
o= —04{™s 04y = T More seconds
[ £= 233 s] rodh o Mis.
5. A pebble is dropped from the top of a 12 m high bridge. How fast is the pebble moving when it Sp t=2%s
hits the ground? How long does it take the pebble to hit the ground? L. —
pe-tam O d=3abtrvh ® veatt W This s acnally
- %, )6 fhe correct angwer -
vi= 0™fs ~(2¢ -‘ic"‘ﬂt £ () Vg < (~0)(:SS) +O 4, cquatlov gue
T
T YA _(1e ~Ct — 2313 becavse Hie
o s 2= 5 [vg= —IS€ "\/ﬂ accelondion g
= 24 rvndad !
Mt=1555)
6. Make the height and velocity graphs that correspond to the motion in question 5.
. 19
55 £ (s) £ (s)
\'}
C:’() (#s)
-2 —(55
7. Akansha jumps into the air with a speed of 2.3 m/s. How high doeszshe jump? How long is she
in the air? -
caam @ @ Sexteit V=0 [ de gLt
Vg= & ) 51 s =L e (a3 + 29D
0.=~1° IS U= at e = ~0.%S + 0.824
O- C“lOBt'\' 2.3 rd: 0.15S @
s 2
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t = 0.2_3 S QQ‘ - Side 2
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ABRHS PHysics (CP) . . . NAME:
Linear Motion Il Exam Review (CP)

8. Make the height and velocity graphs that correspond to the motion in question 7.

0.Us .3
v \
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9. Is it possible to have a constant acceleration and also have a velocity of 0? Explain.

Sure! I that were the ase ) gov wodld Ge re\retsinﬁ yovr dérechion.  Like
o ball foged - ot its Mox teiget ifs welocity is O™ , but it
s shill accelerafisg eause of ey,

10. A pumpkin is thrown straight down from a height of 25 meters. It hits the ground in only 1.7

seconds.

a. What was the initial velocity of the pumpkin?
dz=-215m 4= faf +vit Cld Vg = =1o-<5
t= L3S = L)LY £V (W3 Ve=r l%'.tf
o= -0 Mg -15® 2 :

~26 = —I44S + (L)W TVvi=—62™s |

b. What was the velocity of the pumpkin just as it hits the grotind?
V‘P = a.'b + VL

- (—ID)C[J') + (;‘GJ'L)
= —(3-62 (vp= -232 s |

11. Imagine you throw a ball straight up in the air and catch it at the same height from which it was
thrown.
a. Compare the time it takes the ball to go up to the time it takes the ball to come down.

€ine vp < €Eime down

b. Because the ball goes up and down, it will be at a particular height twice. Compare the
speeds of the ball at those two different times.

Speeds wovld be The Somae

c. Compare the velocities of the ball when it is at the same height.

Bk The velocitics wovid be opposite (w0 = + awk down —)
d. What is the speed of the ball at its maximum height?
O ™s
e. What is the velocity of the ball at its maximum height?

o "
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f.  What is the acceleration of the ball while going up?

R e [4+5 CONSTART ocllehin,
g. What is the acceleration of the ball while coming down W‘/\,t A means the acceleration
—l0 W\,sz . m[.n
¢ AUWAYS -(0 M
h. What is the acceleration of the ball at its maximum height?
-l "™

i. Was the velocity of the ball constant?
Noge.!
j.  Was the acceleration of the ball constant?

Yes - of coursel

12. A ball is launched straight up and is in the air for a total of 3 seconds. How high does it go and
with what speed was it launched?

a=-lomr @) Sinee fotel Fime wos 3 sendy (D V=0 @ max lﬂe\‘owh
- X fiok £ thet time 1 reach V= GE+V:
t o) = 35 ¢ z <
foe Mok, haight O = —0CLE) +V¢

S tep = LSS PG

@ d=4o %t = L)) +S)0s)= 1asm] op T= 55 =75 M/St- (3X015)

13. An object is tossed straight up in the air. Fill in the missing numbers on the graphs. CL: \'
Td=l2em
4
: \
v t(s) Y

(m)
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= 10 "> v=atty d= g0t +yt
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14. An arrow is fired with an initial velocity of -30 m/s. It hits the ground in 0.7 seconds.
a. What is the velocity of the arrow jst as it hits the ground?

Vo= =20 ™ Ve= ot + Ve (
0.= —to M* Up = COM 43D = -3 -3 LV 3 M S
t=0s

b. From what height was the arrow fired?

4= '7"_0:9' +Vit
= SEON + (390 T 245U = (- 2345 m

So fhe inchal ha%awt wos {Z?-Sv,

c. What does the negative sign mean in the initial velocity?

Tt wos goirvj dowh.,
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Answers:

1.a) 51m/s b) 428 m c) -0.85 m/s2

2) a=-.20 m/s2?;its positive because it is going forwards and speeding up

3) a=-16m/s2 &d=20m

4) t=1.55s & v=-15.5m/s (so actually, its speed is 15.5 m/s)

5)

6) t=0.46s & d=0.26 m

7)

8) Of course! But not a constant velocity of 0 — only at one point in time. This happens when something
has been tossed up in the air — at its maximum height is velocity is 0, but it is still constantly
accelerating because of gravity.

9. a) tup = tgown b) speeds the same (but opposite velocities) ¢) opposite
d Om/s e) Om/s f) -10 m/s2 g) -10 m/s2 h) -10 m/s2 i) no j) yes

10) vi=15m/s & d=11.25m
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